58.022.3.3001

46.000.3.0150GR

N°2 ROSETTE DENT. M3 Eé/ 46.999.3.0024

58.019.3.1003 |, ‘ |
N°2 DADI M3 S el

.l - 46.000.3.0012

. oy | \ 46.000.3.0011

F LA 46.000.3.0013

58.010.3.0010 | RN 58.002.3.0302

AUTOF. M2,9X13 N°2 VTCIC M3X25

& 58.019.3.3005

} DADO AUTOBLOC. M5

: 58.022.3.3002

/ ROSETTA DENTELLATA M5

46.999.3.0020

46.000.3.0042
46.000.3.0026

46.000.3.0049

51.000.3.1220 60HZ only

7 46.000.3.0023
© K 230-240V/50Hz
’ 51.000.3.1191
’ \ s 58.010.3.0014 115V/60Hz
N°4 AUTOF. M2,9X25(46.000.3.0017
51.000.3.0473 P 230-240V/50Hz
46.000.3.0053
i 115V/60Hz
o 46.000.3.0119
40.000.3.2114 & L PP 46.000.3.0}0%(3
A J P 46.000.3.0121
G @ L ’ 50uF
58.006.3.0502 N e 65.999.4.0021
N°10 VTSEI M5X16 ~ \& / 230-240V/50Hz
Ny 65.999.4.0020
: : 115V/60Hz
46.999.3.0019
46.000.3.0106
46.000.3.0158
46.000.3.0102
58.014.3.0028
******* m VTSEI M4X10 INOX
46.999.4.0029 |
——————— | 46.000.3.0152
46.000.3.0159 46.000.3.0103
46.000.3.0027 46.999.3.0022

“,

46.000.3.0058
VOLANTINO 5 LOBI

=

v

TEL

KUNZLE & TASIN

Via CAJKOVSKIJ 14 * 20092 CINISELLO BALSAMO (MI)

. 02/66040930  FAX 02/66013445

ORBITAL SANDER

PLANFIX PRO 55

FOGLIO
1/5

AGOSTO 2006




65.999.3.0010

B0OOW 115V /B0Hz

65.999.3.0011

B0OW 230-240V/50Hz

34.000.3.1475

[ e

L=920mm

34.000.3.0120

58.003.3.0603
N°4 VTCEI M6X18

65.000.3.0023GA

L=350mm

= —46.000.1.0098

%34.000.3.5259
58.003.3.0802

N°4 VTCEI M8X20

51.000.3.1053

65.000.4.0016

N°2 DIASTANZIALI
34.000.3.3720

N°2 GHIERA FIL.30 P.1,5 ZINCATA

a0 KUNZLE & TASIN
@ Via CAJKOVSKIJ 14 * 20092 CINISELLO BALSAMO (MI)

TEL. 02/66040930 FAX 02/66013445

ORBITAL SANDER
PLANFIX PRO 55

FOGLIO
2/5

AGOSTO 2006




MACHINE BODY

46.000.3.0009
58.003.3.0503
N°4 VTCEI M5X16
65.000.3.0031 58.003.3.0803

230-240V/50Hz N°4 VTCEI M8X25

65.000.3.0032

115V/60Hz 65.000.3.0003GA
65.000.3.0022GA
‘ i g ii - 58.011.3.0809
‘ ‘ | o ‘ N°8 VTCEI 5/16 UNC L1" TUTTO FIL.
65.000.4.0015
58.003.3.0501

N°7 VTCEI M5X10

65.000.3.0011

= ¥
== KUNZLE & TASIN o
)) Via CAJKOVSKIJ 14 * 20092 CINISELLO BALSAMO (M) PLANFIX PRO 55 /

TEL. 02/66040930 FAX 02/66013445 AGOSTO 2006




58.030.3.0003
N°2 SEEGER E15

46.000.3.0001

46.000.3.0055
N°4 RONDELLA NYLON BIANCO 15X28X2,5

46.000.3.0005

65.000.3.0022GA

65.000.3.0028

65.999.4.0005

65.000.3.0008
RONDELLA BLOCCA MOT.

58.006.3.0805
‘ ‘ VTSEI M8X25
|

65.000.3.0009

65.999.4.0003

<

1S

01.000.4.0078
N°4 RONDELLA D.20

58.022.3.1002
N°4 GROOWER p6

58.003.3.0607
N°4 VTCEI M6X30

58.003.3.0609
N°3 VTCEI M6X40

65.999.4.0001

58.003.3.0603
N°6 VTCEI M6X18

= ¥
== KUNZLE & TASIN o
)) Via CAJKOVSKIJ 14 * 20092 CINISELLO BALSAMO (M) PLANFIX PRO 55 /

TEL. 02/66040930 FAX 02/66013445 AGOSTO 2006




02.999.4.0005

65.999.4.0003

65.000.3.0004

65.000.4.0002

65.000.3.0010

58.006.3.0606
N°2 CUSCINETTO 6007-2RS1

58.040.3.2001
N°2 CUSCINETTO 6007-2RS1

65.000.3.0008

02.999.4.0003

A%AM
%4

58.003.3.0607
N°4 VTCEI M6X30

x(®

&E 58.022.3.1002
N°4 RONDELLE D.20
<> 01.000.4.0078

N°4 RONDELLE D.20

‘ : ‘ % 65.000.3.0009
% N°4 BLOCCHETTO MOLLA
‘ | ‘ 65.000.3.0007
| | N°4 MOLLA
65.000.4.0024
= ¥
Pan KUNZLE & TASIN ORBITAL SANDER 55
)) Via CAJKOVSKIJ 14 * 20092 CINISELLO BALSAMO (M) PLANFIX PRO 55
TEL. 02/66040930  FAX 02/66013445 AGOSTO 2006




